PHOENIX SPIRIT GROUP, LLC \$106,775.00 STAY ALERT SAFETY SERVICES, LLC \$127,525.00 TLC WORKS INC. \$299,050.00

| ITEM | DESCRIPTION   | QUANTI<br>TY | UNIT                   | UNIT<br>PRICE | AMOUNT BID   |
|------|---|--------------|------------------------|---------------|--------------|
| 1    | MULTI-LANE TRAFFIC<br>CONTROL, ½ MILE OR LESS                   | 10           | DAY                    | \$5,000.00    | \$50,000.00  |
| 2    | MULTI-LANE TRAFFIC<br>CONTROL, ½ MILE OR LESS<br>LANE CLOSURE   | 15           | HR                     | \$800.00      | \$12,000.00  |
| 3    | MULTI-LANE TRAFFIC<br>CONTROL, GREATER THAN ½<br>MILE           | 10           | DAY                    | \$6,500.00    | \$65,000.00  |
| 4    | MULTI-LANE TRAFFIC<br>CONTROL, GREATER THAN ½<br>MILE           | 15           | HR                     | \$1,000.00    | \$15,000.00  |
| 5    | FLASHING ARROW PANEL, TYPE<br>C                                 | 20           | DAY                    | \$150.00      | \$3,000.00   |
| 6    | FLASHING ARROW PANEL, TYPE C                                    | 30           | HR                     | \$25.00       | \$750.00     |
| 7    | CHANGEABLE MESSAGE SIGN   | 20           | DAY                    | \$300.00      | \$6,000.00   |
| 8    | CHANGEABLE MESSAGE SIGN   | 30           | HR                     | \$25.00       | \$750.00     |
| 9    | TRUCK MOUNTED ATTENUATOR  | 20           | DAY                    | \$725.00      | \$14,500.00  |
| 10   | TRUCK MOUNTED ATTENUATOR  | 30           | HR                     | \$125.00      | \$3,750.00   |
| 11   | FLAGGER   | 20           | DAY                    | \$3,000.00    | \$60,000.00  |
| 12   | FLAGGER   | 30           | HR                     | \$300.00      | \$9,000.00   |
| 13   | PILOT CAR   | 20           | DAY                    | \$1,000.00    | \$20,000.00  |
| 14   | PILOT CAR   | 30           | HR                     | \$100.00      | \$3,000.00   |
| 15   | TOWER LIGHT   | 10           | DAY                    | \$300.00      | \$3,000.00   |
| 16   | WORK ZONE SIGNS (PORTABLE,<br>STATIONARY, BARRICADE<br>MOUNTED) | 1600         | SF                     | \$12.50       | \$20,000.00  |
| 17   | BARRICADE, TYPE III   | 80           | LF                     | \$10.00       | \$800.00     |
| 18   | EMERGENCY MOBILIZATION  | 5            | EA                     | \$2,500.00    | \$12,500.00  |
|      |   |              | TLC WORKS<br>BID TOTAL |               | \$299,050.00 |

| ITEM | DESCRIPTION   | QUANTI<br>TY | UNIT                        | UNIT<br>PRICE | AMOUNT BID   |
|------|---|--------------|-----------------------------|---------------|--------------|
| 1    | MULTI-LANE TRAFFIC<br>CONTROL, ½ MILE OR LESS                   | 10           | DAY                         | \$1,500.00    | \$15,000.00  |
| 2    | MULTI-LANE TRAFFIC<br>CONTROL, ½ MILE OR LESS<br>LANE CLOSURE   | 15           | HR                          | \$375.00      | \$5,625.00   |
| 3    | MULTI-LANE TRAFFIC<br>CONTROL, GREATER THAN ½<br>MILE           | 10           | DAY                         | \$2,000.00    | \$20,000.00  |
| 4    | MULTI-LANE TRAFFIC<br>CONTROL, GREATER THAN ½<br>MILE           | 15           | HR                          | \$500.00      | \$7,500.00   |
| 5    | FLASHING ARROW PANEL, TYPE<br>C                                 | 20           | DAY                         | \$160.00      | \$3,200.00   |
| 6    | FLASHING ARROW PANEL, TYPE<br>C                                 | 30           | HR                          | \$25.00       | \$750.00     |
| 7    | CHANGEABLE MESSAGE SIGN   | 20           | DAY                         | \$250.00      | \$5,000.00   |
| 8    | CHANGEABLE MESSAGE SIGN   | 30           | HR                          | \$50.00       | \$1,500.00   |
| 9    | TRUCK MOUNTED ATTENUATOR  | 20           | DAY                         | \$350.00      | \$7,000.00   |
| 10   | TRUCK MOUNTED ATTENUATOR  | 30           | HR                          | \$150.00      | \$4,500.00   |
| 11   | FLAGGER   | 20           | DAY                         | \$320.00      | \$6,400.00   |
| 12   | FLAGGER   | 30           | HR                          | \$40.00       | \$1,200.00   |
| 13   | PILOT CAR   | 20           | DAY                         | \$400.00      | \$8,000.00   |
| 14   | PILOT CAR   | 30           | HR                          | \$50.00       | \$1,500.00   |
| 15   | TOWER LIGHT   | 10           | DAY                         | \$100.00      | \$1,000.00   |
| 16   | WORK ZONE SIGNS (PORTABLE,<br>STATIONARY, BARRICADE<br>MOUNTED) | 1600         | SF                          | \$10.00       | \$16,000.00  |
| 17   | BARRICADE, TYPE III   | 80           | LF                          | \$20.00       | \$1,600.00   |
| 18   | EMERGENCY MOBILIZATION  | 5            | EA                          | \$200.00      | \$1,000.00   |
|      |   |              | PHOENIX SPIRIT<br>BID TOTAL |               | \$106,775.00 |

| ITEM | DESCRIPTION   | QUANTI<br>TY | UNIT                    | UNIT<br>PRICE | AMOUNT BID   |
|------|---|--------------|-------------------------|---------------|--------------|
| 1    | MULTI-LANE TRAFFIC<br>CONTROL, ½ MILE OR LESS                   | 10           | DAY                     | \$1,650.00    | \$16,500.00  |
| 2    | MULTI-LANE TRAFFIC<br>CONTROL, ½ MILE OR LESS<br>LANE CLOSURE   | 15           | HR                      | \$250.00      | \$3,750.00   |
| 3    | MULTI-LANE TRAFFIC<br>CONTROL, GREATER THAN ½<br>MILE           | 10           | DAY                     | \$2,250.00    | \$22,500.00  |
| 4    | MULTI-LANE TRAFFIC<br>CONTROL, GREATER THAN ½<br>MILE           | 15           | HR                      | \$315.00      | \$4,725.00   |
| 5    | FLASHING ARROW PANEL, TYPE<br>C                                 | 20           | DAY                     | \$25.00       | \$500.00     |
| 6    | FLASHING ARROW PANEL, TYPE<br>C                                 | 30           | HR                      | \$5.00        | \$150.00     |
| 7    | CHANGEABLE MESSAGE SIGN   | 20           | DAY                     | \$50.00       | \$1,000.00   |
| 8    | CHANGEABLE MESSAGE SIGN   | 30           | HR                      | \$15.00       | \$450.00     |
| 9    | TRUCK MOUNTED ATTENUATOR  | 20           | DAY                     | \$350.00      | \$7,000.00   |
| 10   | TRUCK MOUNTED ATTENUATOR  | 30           | HR                      | \$75.00       | \$2,250.00   |
| 11   | FLAGGER   | 20           | DAY                     | \$1,300.00    | \$26,000.00  |
| 12   | FLAGGER   | 30           | HR                      | \$155.00      | \$4,650.00   |
| 13   | PILOT CAR   | 20           | DAY                     | \$850.00      | \$17,000.00  |
| 14   | PILOT CAR   | 30           | HR                      | \$85.00       | \$2,550.00   |
| 15   | TOWER LIGHT   | 10           | DAY                     | \$195.00      | \$1,950.00   |
| 16   | WORK ZONE SIGNS (PORTABLE,<br>STATIONARY, BARRICADE<br>MOUNTED) | 1600         | SF                      | \$6.85        | \$10,960.00  |
| 17   | BARRICADE, TYPE III   | 80           | LF                      | \$23.00       | \$1,840.00   |
| 18   | EMERGENCY MOBILIZATION  | 5            | EA                      | \$750.00      | \$3,750.00   |
|      |   |              | STAY ALERT<br>BID TOTAL |               | \$127,525.00 |